HAVIS

Productivity in motion

INSTALL INSTRUCTIONS C-TFD-CHGR-2

2011 - 2020 Dodge Charger
Trunk Fold Down Equipment Platform with slide out inner panel
14 x 30” inches Equipment mounting space
plus 30 wide x 10” deep space on the forward mount bracket

TOOLS REQUIRED:
Standard and Metric Socket Set 7/16” wrench

PARTS & MOUNTING HARDWARE:
1 — Front mount plate

1 — Driver side upper support bracket

1 — Passenger side upper support bracket
2 — Top mount plates with 1/4” threaded nuts
1 — Hardware Kit (Includes the following)
7 - 1/4” x 3/4" Hex head bolts

7 —1/4” Flat washer

3 —1/4” Lock washer

2 — M12 Hex Nut

2 — 7/16” Flat washer

2 —1/2” Lock washer

C-TFD-CHGR-2
(Assembly) CM001550
Top mount backing Plates

CM005142
Front Mount plate

CM005281
Upper Support
Bracket

* Read Instructions before installing any Havis, Inc. products.
* Use Hardware included with install kit

CMO005142
CMO005281
CMO005282
CMO001550
C-HK-270

GSM33001
GSM31005
GSM31026
GSM30204
GSM31011
GSM31030

CMO005282
Upper Support
Bracket

C-TFD-CHGR-2_INST_8-14



Remove spare tire and tire bracket.

Remove Rear Seat for better access to trunk.

Upper Rear Bracket mounting.

Remove upper trunk liner

Insert nut backing plate into existing holes
as shown.

C-TFD-CHGR-2_INST_8-14



OEM spare tire

Loosely attach rear upper bracket with 1/4" x Attach forward floor bracket to

3/4” Hex head bolt & flat washer bracket studs with M12 nuts (located under
(7/16” socket) rear seat). Place Hinge door and frame

assembly onto forward floor bracket. Use 1/4”
x 3/4" hex bolts, flat and lock washers.

Loosely attach door frame to upper support
bracket with 1/4” x 3/4” Hex head bolt and
flat washer.

Do the same for each side.

e

Tighten all bracket hardware.
Don’t forget backing plate hardware.
Install rear seat.

F,) @ Vs

View o-f-rC-TFD-CHGR-Z in plabe. Floor cover will need to be cut to clear floor
Equipment layout and hole drilling should be done bracket leas.
prior to complete installation. The slide tray can be C-TFD-CHGR-2_INST 8-14

easily removed for bench top assembly



